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b = javal-l b GEsrc b lesson0l b () ExampleS b a start() : void

1 package lesson0l;
2 import javax.swing.JOptionPane;
2 public class Examplel {
gi= public =tatic void main(S5tring[largs){
5 new Example5 () .start():
& H
L= vold starti(){
String input=" ¥¥F-V( e )/ /CNEBEEINITORACHS FIIONILIC REENFE A
SFoDPIEECE. T-0RIHES XFEETH IO 2L REENG0E0ET
L ICCO PIC inputlc AT IO 2LEFUT EITLTHFT
input=mialf =l (T wr ymre/
JOptionPane.showMessageDialog(null, input) ; /*C 0L FFRGETIONILICESENLE0OE ERBENIOT
EFEIOV LB E L ET RE LSO CENGOTH BT EF L s/
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b i javal-1 b j#src b H3 lesson0l » (R Examplel » & start() : void

1 package lessonll;
2 import javax.swing.JOptionPane;
3 puoblic class Examplel {
public =tatic void main(String[]args=s){
new Examplel().startc():

vold start () {

System.out.println("println™) ;
System.ocut.print ("print™) -
System.out.print ("print™) ;

JOoptionPane. showMessageDialog (nmll, " t? —2AH 7 PO nidatr =S R PO0 ) -

Bl o> -l 52 l Awir—= l—?_?-.

Examplel [Java 7 745 —=.37/] C:¥50

println
printprint
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11| *Testl.java :3

1 package jawval:;

95 LDE

15

W 2 1mport javax.swing.JOptionPane;
= public clas=zs Testl {

=
4

wvold start() {

new Testl().startc():

CHIICCNZE VL,

21T,

public static vold main(String[] args) i
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e String (X =51 : ex. Hello World!)
o iNt(EZ :ex. 3)
o double (E#:ex. 3.14) AN NHYZ

» 12 javal-1 » @ src b 3 lesson0l » (3 Example2 »

1 package lesson0l;
import javax.swing.JOptionPane:;
public clas=s ExampleZ {
pubklic =2tatic wvoid main(String[largs) {
new Example? () .startci):

YA
\No1 8
o

1 on N Wb

wvoid starci(){

8 String inpat="j{qz§”":

=] int input?=3;

1C dounble inputi3i=3.14:;

11 JoptionPane. showMessagelDialoginull, input+"\n"+inputZ+"\n"+input3) ;

13 } Awtr—= [
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3
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b 2 javal-l b G2 src b fF lesson0l b (R Example3 » & start() : void

package les=zonll;
import javax.swing.JOptionPane;
public cla=ss Exampleld {
public =tatic void main((String[largs) 1
new Example3 () .start():
¥
vold start() {
String input=JﬂptinnPanE.Shﬂvrﬂputﬂialﬂg1"1ﬂﬂhﬁjﬁL{E_F§L\"};
JOoptionPane. showMessageDialog(null, ".A ENE X FHE I m+input+ | T8 ") ;
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o Integer.parselnt(<3X=F51>);

o Double.parseDouble(<3X=F51>); [ZDLVT,
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Test1.java

[J] Exampled.java &3

1 package lesson0l;

2 import
public

javax.swing.JOptionPane;
class Exampled {

public static wvoid main(S5tring[] args){

new Example4d () .startc():

wvoid starc(){

= /-3 double®!

String inp'.lt=JDptiUnPane.shﬂvlnputﬁiaiog("%ﬂﬁ’)\jﬁlbf{?ﬁé“"];
String inp'.JtE=JDptiD:1Pa:1E.showrnputﬁiai-::-gi"%ﬁ—"] %ﬂﬁ)\jﬁlbf(?ﬁém"];

int x=Integer.pars=eInt(input)
int yv=Integer.parsseInt(inputl) ;

JOoptionPane . shovMessageDialog (null, ",J\J'fll_,l?:: fE[Et "+i:1p'.1t+”(': "+input?
+m\n M FHI|O B S+ (input+input2) +"\nE FICHBRBOE S "+ (x+v) ) ;
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void startc() {
String a =
doable b =

For example..

HE -5":-

Double.pars=Double(a)

JOptionPane. shovMessageDialog(mmll,b * 3);
JﬂptinnPanE.ShﬂvﬂEﬂﬂageﬂiaiﬂginnll,gmimﬁj;
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Before

[J] *Testl.java i3

-
i
-

package jawval:;

import javax.swing.JOptionPane;

puklic clas=s Testl{

public static void main (String[] args)i{
new Testl().start():

H
wvold start () {
String input=JOptionPane.showInputDialog("Yefilx A LT FE0vy ;

10 String input2=J0ptionPane.showInputDialog("ea—MEEEE A LT AEEL )

14 int |[x=Integer.parsselInt{input):

int vVwInteger.parselint{inputl) ;

= =
I y N

JOoptionPane. showMessageDialog(mnmll, "AFLEEHG + x + w2 ¢y + "G my .
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After
[J| *Testl.java i3

package jawval:

import javax.swing.JOoptionPane;

P S L T % B =

public class Testl
- public static void main(S5tring[] args) {
new Testl().start():

1 o Ln

= wvold start() {
String input = JOptionPane.showInputDislog("¥#x A HLT TEL;

String input2? = JDptir:nnPanE.shﬂvrnputﬂiaiﬂg(”Eﬁ—‘jﬂ}%ﬁﬁﬁjﬂbfﬂf§t\"];

int x = Integer.parseIint(input):;

int v = Integer.parselint(inputd):;

JOptionPane . shovMessageDialog(null, ")kj]b?i%ﬁ[&"" + x + "o v o+ ”f'_";'l_":l;
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For example...

4
S public class Testl {

= - - = = _4F

o public static void main Awtr— | 8 |
7 new Testl().start()

8 }

- @ 1+1=2

9

0E void start() { 3-2=1

" & - — T} L

1 f String a 2.5"; 4*3=17
2 double b = Double.g
3 JOptionPane . showMes 713=2

g *f T%H3=1
S int plu=s=1+1;

b int minus=3-2; TR
7 int multi=4%3;

int divide=T7/3; .

int percent=T7%3;
JOoptionPane. shovMessageDialog(null, "1+1="+plus+"\n"
+"3-2="+minus+"\n"
+"4=3="4multci+"\n"
+"7/3="+divide+"\n"
+"T7E3="+percent) ;
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Int/int=int @DEZ ELBYFT,
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DoubleMZEAZZHLI=WWEEIXLLTOLIIZLET,
ZC Ty ZE#ahbbZxdouble® [ZLET , EBAAMAdouble B IZLTEEZ(E
HET,

donable a=7;
donble b=3;
JOoptionPane . shovMessageDialog(mmll, "7/3="+a/b):

Awtr—= e

P
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